
Spiel 1 Spiel 2 Gesamt

18:54 B 13 Temper Anton 50 + 38 = 88

B 18 Wruss Heinz 46 + 61 = 107

19:08 B 14 Rathgeb Helmut 42 + 44 = 86

B 17 Hahn Manfred 45 + 48 = 93

19:15 B 15 Hahn Ernst 48 + 51 = 99

B 16 Hintersteiner Gerhard 47 + 43 = 90

19:22 B 18 Wruss Heinz 41 + 46 = 87

B 16 Hintersteiner Gerhard 43 + 46 = 89

19:28 B 17 Hahn Manfred 47 + 44 = 91

B 15 Hahn Ernst 50 + 50 = 100

19:34 B 13 Temper Anton 42 + 43 = 85

B 14 Rathgeb Helmut 59 + 52 = 111

19:39 B 14 Rathgeb Helmut 57 + 58 = 115

B 18 Wruss Heinz 39 + 55 = 94

19:45 B 15 Hahn Ernst 41 + 45 = 86

B 13 Temper Anton 53 + 45 = 98

19:51 B 16 Hintersteiner Gerhard 47 + 57 = 104

B 17 Hahn Manfred 68 + 49 = 117

19:58 B 18 Wruss Heinz 51 + 54 = 105

B 17 Hahn Manfred 43 + 53 = 96

20:07 B 13 Temper Anton 47 + 47 = 94

B 16 Hintersteiner Gerhard 36 + 46 = 82

20:13 B 14 Rathgeb Helmut 55 + 50 = 105

B 15 Hahn Ernst 48 + 43 = 91

20:20 B 15 Hahn Ernst 64 + 53 = 117

B 18 Wruss Heinz 51 + 45 = 96

20:26 B 16 Hintersteiner Gerhard 40 + 49 = 89

B 14 Rathgeb Helmut 61 + 45 = 106

20:32 B 17 Hahn Manfred 43 + 55 = 98

B 13 Temper Anton 42 + 50 = 92


